[ Efficiency vs vertpos |

1

£0.09
g
20.08
Q
50.07
=
£0.06
0.05
0.04
0.03 {41
0.02
0.01-H-

A
AT .

1072 107 1

t :

¥
-
)

10 0?
TP vertr (cr%)

—=— DQM_IT__orniginal
—e— DOM_TT__mod_xmodels_truthfinal_reg_model TEST-27-PIXB
Efficiend —— DQM_TT__mod_xmodels_truthfinal_reg_modelTEST-27-TIB

—— DQM_TT_mod_xmodels_truthfinal _reg_modelTEST-27-TOB
~0.05
-

D.045f -+t e b
17} . p . . .
L | S T
) : : : -
.035F-
o
£0.03F
[}
0.025F-
0.02f
0.015F
0.01-
0.005F-

...............

...............

...............

........ Leenaan fmemeeataeaaaa

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.1

>k
D—_O.Og:— ------------------------------------------------
e o
(7)0085— ---------------------------------
£0.07Ffrpreeierseerdemennnbeniee
5 o
S 0.06F| |-k i
.0 F
o iy
£0.05E-T
] E

0.04F

0.03F

0.02

0.0
Q

Ratio

15

10 15 20
Sim. PV z (cm)

‘-AIIII!IIII- :

|
o
o : r
o



	Contents
	Page 1


